)

Best Master Furniture” ASSEMBLY INSTRUCTIONS
ITEM# A805 DINING CHAIR

HARDWARE LIST PARTS LIST

NO.|SKETCH| DESCRIPTION QTY |[|NO.] SKETCH | DESCRIPTION QTY

Bolt(1/4"*5/8") 2 PCS
1 Chair Seat 1PC

B | ¢ |Bolt(1/4"3/4") 8 PCS
@

Washer(1/4") gspPcs || 2 Left Leg 1PC

D | & Spring Washer(1/4") |8 PCS

3 Right Leg 1PC
E M Allen Wrench(4mm) |1 PC

Step 1

Note: At this step, do not fully tighten the bolts.

. : J

www.bestmasterfurnitures.com




ASSEMBLY INSTRUCTIONS

Step 2

Step 3

B et e T

Adjust Pre-installed Leveler

height to achieve balance.

e mmmm e m e —————

S

=5
o
2
w

£
o
o
%
@
|
=
=
=
5
1=
2
7
®
£
gt
7
®
=
3
3
3




